






A.7
B.4
C.6
D.9
E.36

Find the value ?

(𝟏𝟖𝟐𝟕 ÷ 𝟐𝟗 ÷ 𝟕 + 𝟓𝟔𝟕 ÷ 𝟐𝟏) =    ?



15x2 + 29x + 8 = 0

4y2 – 71y – 18 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



Direction: Read the following table carefully and answer the 

following questions -

Item Colgate
( % )

Vicco
( % )

Pepsodent
( % )

Total

Brushes 50 20 30 8000

Pastes 40 25 35 6000

Powder 30 20 50 7000



Vicco paste users are what percent of the colgate powder users?

विक्को पेस्ट उपयोगकर्ता कोलगेट पतउडर उपयोगकर्ताओ ंकत वकर्नत प्रवर्शर् है?

A.25%
B.20%
C.33 1/3%
D.66 2/3%
E.NOT

Item Colgate( 
% )

Vicco
( % )

Pepso
( % )

Total

Brushes 50 20 30 4000

Pastes 40 25 35 2000

Powder 30 20 50 5000



Find the sum of colgate powder users and vicco paste users ?

कोलगेट पतउडर उपयोगकर्ता और विक्को पेस्ट उपयोगकर्ताओ ंकत योग ज्ञतर् 

कीविए?

A.1000
B.2000
C.5000
D.3000
E.NOT

Item Colgate( 
% )

Vicco
( % )

Pepso
( % )

Total

Brushes 50 20 30 4000

Pastes 40 25 35 2000

Powder 30 20 50 5000



Colgate brush users are how many percent more or less than 

pepsodent powder users? 

कोलगेट ब्रश उपयोगकर्ता पेप्सोडेंट पतउडर उपयोगकर्ताओ ंकी रु्लनत में वकर्ने 

प्रवर्शर् अविक यत कम हैं ?

A.20%
B.25%%
C.40%
D.50%
E.NOT

Item Colgate( 
% )

Vicco
( % )

Pepso
( % )

Total

Brushes 50 20 30 4000

Pastes 40 25 35 2000

Powder 30 20 50 5000



The ratio of female to male users of Vicco brushes is 3 : 2, Then 

what is the difference between the female users and male users of 

Vicco?

विक्को ब्रश के मवहलत से पुरुष उपयोगकर्ताओ ंकत अनुपतर् 3: 2 है, र्ो Vicco के मवहलत 

उपयोगकर्ताओ ंऔर पुरुष उपयोगकर्ताओ ंके बीच क्यत अंर्र है?

A.180
B.200
C.400
D.160
E.NOT

Item Colgate( 
% )

Vicco
( % )

Pepso
( % )

Total

Brushes 50 20 30 4000

Pastes 40 25 35 2000

Powder 30 20 50 5000



If the ratio between male and female users of colgate paste and pepsodent

brush are 2:3 and 3:7 respectively then find the ratio between the female 

users of colgate paste and male users of pepsodent brush ? 

यवि कोलगेट पेस्ट और पेप्सोडेंट ब्रश के पुरुष और मवहलत उपयोगकर्ताओ ंके बीच कत अनुपतर् क्रमशः 

2:3 और 3:7 है, र्ो कोलगेट पेस्ट के मवहलत उपयोगकर्ताओ ंऔर पेप्सोडेंट ब्रश के पुरुष उपयोगकर्ताओ ं

के बीच कत अनुपतर् ज्ञतर् कीविए?

A.4:7
B.2:5
C.3:13
D.4:17
E.NOT

Item Colgate( 
% )

Vicco
( % )

Pepso
( % )

Total

Brushes 50 20 30 4000

Pastes 40 25 35 2000

Powder 30 20 50 5000



64, 62, 65, 60, 67, ?

A.50
B.62
C.64
D.56
E.66



2x2 + 3x – 35 = 0 

4y2 + 10y – 104 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



A number is multiplied by 5/7 instead of being multiplying by 2/5. Find the 

percent error occur in the result?

एक संख्यत को 2/5 से गुणत करने के बितय 5/7 से गुणत वकयत ितर्त है। पररणतम में होने ितली 

प्रवर्शर् तु्रवट ज्ञतर् कीविये?

A.76%
B.74 5/7%
C.77 1/7%
D.78 4/7%
E.NOT



77, 76, 84, 57, ?, – 4

A.81
B.100
C.121
D.144
E.169



A.4
B.7
C.5
D.6
E.8

Find the value ?

63 × 34 ÷ 93 + ?2 = 72



9x2 – 26x + 16 = 0

3y2 – 16y + 20 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



The average of a few numbers is 48. If 75%of the numbers are increased by 4 

each and the rest are decreased by 6 each, then what is the average of the 

numbers, so obtained?

कुछ संख्यतओ ंकत औसर् 48 है। यवि 75% संख्यतओ ंमें से प्रत्येक में 4 की िृवि की ितर्ी है और 

शेष में प्रत्येक में 6 की कमी की ितर्ी है, र्ो प्रतप्त संख्यतओ ंकत औसर् क्यत है?

A.50.4
B.49
C.49.5
D.54
E.NOT



6x2 – 23 3x + 60 = 0

2y2 + 3 3y – 15 = 0

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



8 
𝟏

𝟐
+ 𝟒

𝟐

𝟕
= 𝟓

𝟏

𝟐
+ ?

A. 7
2

7

B. 6
1

2

C. 7
1

14

D. 8
2

7

E. NOT

Find the value ?



8.5, 9.5, 21, 66, ?, 1345

A.258
B.268
C.274
D.284
E.278



25
6.5

× 25
12.25

= 25
21–?

A.2.20
B.2.25
C.2.5
D.3
E.NOT

Find the value ?



7, ?, 7, 17, 63

A.7
B.5
C.4
D.3
E.NOT



35x2 + 13x – 90 = 0 

7y2 + 24y + 20 = 0 

A. X > Y
B.X < Y
C.X  ≥ Y
D.X  ≤  Y
E.X = Y
or CND



(𝟏𝟑𝟐 + 𝟏𝟔𝟖 ÷ 𝟐𝟒 – 𝟑𝟑 + 𝟏𝟏𝟎) =   (?)3

A.2
B.256
C.16
D.4
E.6

Find the  value ?



0.25, 1.25, 4.5, ?, 70, 355

A.16.25
B.16
C.16.75
D.16.5
E.17.25



The monthly income of A and B together is 28000 rs. The income of A and B is 

increased by 25% and 12.5% respectively. The new income of B becomes 120%  

of the new salary of A. Find the new income of A?

A और B की वमलतकर मतवसक आय 28000 रुपये है। A और B की आय में क्रमशः 25% और 

12.5% की िृवि होर्ी है। B की नई आय A के नए िेर्न कत 120% हो ितर्ी है। A की नई आय 

ज्ञतर् कीविए?

A.12000
B.18000
C.14000
D.16000
E.15000



How many job applicants had applied if the ratio of selected to unselected was 

19:17. If 1200 less had applied and 800 less selected, then the ratio of selected 

to unselected would have been 1:1 ?

वकर्ने नौकरी आिेिकों ने आिेिन वकयत थत यवि चयवनर् और अचयवनर् कत अनुपतर् 19:17 थत। 

यवि 1200 कम ने आिेिन वकयत होर्त और 800 कम चयवनर् होर्त, र्ो चयवनर् से अचयवनर् कत 

अनुपतर् 1:1 होर्त?

A.6000
B.7200
C.8400
D.4800
E.NOT



The ratio of spirit and water in solutions in vessels A and B are 3 : 4 and 5: 9, 

respectively. The contents of A and B are mixed in the ratio 2 : 3. What is the 

ratio of water and spirit in the resulting solution?

बर्ान A और B के घोल में वस्प्रट और पतनी कत अनुपतर् क्रमशः 3:4 और 5:9 है। A और B की 

सतमग्री को 2:3 के अनुपतर् में वमलतयत ितर्त है। पररणतमी घोल में पतनी और वस्प्रट कत अनुपतर् क्यत

है?

A.43 :27
B.39 : 16
C. 8 : 13
D.1 : 3
E.NOT


